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1) Complete the series.
120, 99, 80, 63, 48, ? [Question ID = 13873]

1. 38 [Option ID = 25490]
2. 35 [Option ID = 25489]
3. 39 [Option ID = 25491]
4. 40 [Option ID = 25492]

Correct Answer :-
o 35 [Option ID = 25489]

2) Which of the following statement regarding Carbon Sink is not true?
[Question ID = 13849]

1. Ocean can act as carbon sink. [Option ID = 25396]

2. A carbon sink accumulates and stores carbon compound for an indefinite period. [Option ID = 25393]
3. A carbon sink can be a natural or artificial reservoir. [Option ID = 25394]

4. Soil cannot act as a carbon sink. [Option ID = 25395]

Correct Answer :-
e A carbon sink accumulates and stores carbon compound for an indefinite period. [Option ID = 25393]

3) Which of the following statement/s is/are part of the Moral Code of Conduct during elections
in India?

i. Candidates are asked to refrain from distributing liquor to voters.

ii. The election campaign rallies and road shows must not hinder the road traffic.

iii. Government bodies may continue recruitment process during the elections.

[Question ID = 13888]

1. Only ii and iii [Option ID = 25550]
2. Only i and iii [Option ID = 25551]
3. Only i and ii [Option ID = 25549]
4. All of these [Option ID = 25552]

Correct Answer :-
e Onlyiand ii [Option ID = 25549]

4) Which of the following is part of the Parliament news coverage?
[Question ID = 13884]

1. Calling attention [Option ID = 25533]
2. Proceedings [Option ID = 25534]



3. Zero-hour mentions [Option ID = 25535]
4. All of the above [Option ID = 25536]

Correct Answer :-
 Calling attention [Option ID = 25533]

5) Which of the following is true about Arunachalam Muruganantham?
i. He is a social entrepreneur from Arunachal Pradesh.
ii. He is known for invention of low-cost sanitary pad making machine.

[Question ID = 13833]

1. Both i and ii [Option ID = 25331]
2. Neither i nor ii [Option ID = 25332]
3. Only ii [Option ID = 25330]

4. Only i [Option ID = 25329]

Correct Answer :-
e Only i [Option ID = 25329]

6) Which of the following means perpetuate cyber crime?
[Question ID = 13892]

1. Anonymity [Option ID = 25566]

2. Accessibility [Option ID = 25567]

3. Action at distance [Option ID = 25565]
4. All of these [Option ID = 25568]

Correct Answer :-
» Action at distance [Option ID = 25565]

7) Which of the following is not a Tulip Garden?
[Question ID = 13867]

1. Himalayan Tulip Garden, Gulmarg [Option ID = 25467]

2. Indira Gandhi Tulip Garden, Srinagar [Option ID = 25465]

3. Mughal Gardens in Rashtrapati Bhawan, Delhi [Option ID = 25466]
4. Tulip Garden in Craignano Nature Park, Shimla [Option ID = 25468]

Correct Answer :-
« Indira Gandhi Tulip Garden, Srinagar [Option ID = 25465]

8) A thought process or method used to generate creative ideas by exploring many possible
solutions is known as . [Question ID = 13832]

1. Original thinking [Option ID = 25328]

2. Divergent thinking [Option ID = 25325]
3. Conceptual thinking [Option ID = 25326]
4. Convergent thinking [Option ID = 25327]

Correct Answer :-
» Divergent thinking [Option ID = 25325]



9) A man pointing to a lady said, “the son of her only brother is the brother of my wife.” The lady
is related to the man as . [Question ID = 13872]

1. Mother’s sister. [Option ID = 25485]

2. Sister of father-in-law. [Option ID = 25488]
3. Mother-in-law. [Option ID = 25487]

4. Grandmother. [Option ID = 25486]

Correct Answer :-
» Mother’s sister. [Option ID = 25485]

10) When is it appropriate to talk negatively about someone?
[Question ID = 13891]

1. Ignore everything. [Option ID = 25563]

2. In front of that person. [Option ID = 25562]

3. In the privacy of our homes. [Option ID = 25561]
4. None of these [Option ID = 25564]

Correct Answer :-
 In the privacy of our homes. [Option ID = 25561]

11) A smartphone is a combination of functionality of a telephone, a camera, a music player, a
digital personal assistant etc. into one device. This is an example of . [Question ID = 13834]

1. Technology convergence [Option ID = 25334]
2. Technology diversification [Option ID = 25333]
3. Technological integration [Option ID = 25336]
4. Technological determinism [Option ID = 25335]

Correct Answer :-
« Technology diversification [Option ID = 25333]

12) Pune receives much lesser rainfall as compared to Mumbai because .
[Question ID = 13861]

1. it is located on the windward side of Western Ghats. [Option ID = 25441]
2. it lies in the leeward side of Western Ghats. [Option ID = 25442]

3. of continentality. [Option ID = 25443]

4, distance from the sea. [Option ID = 25444]

Correct Answer :-
« itis located on the windward side of Western Ghats. [Option ID = 25441]

13) Bhupen Hazarika, who was awarded with the Bharat Ratna recently, is popularly known as
. [Question ID = 13858]

1. Bard of Assam [Option ID = 25430]

2. Bard of Brahmaputra [Option ID = 25429]
3. Bard of Northeast [Option ID = 25431]

4. Bard of India [Option ID = 25432]

Correct Answer :-



» Bard of Brahmaputra [Option ID = 25429]

14) Socially and culturally less powerful people are by mass media. [Question ID =
13883]

1. counselled [Option ID = 25530]

2. stereotyped [Option ID = 25532]
3. supplemented [Option ID = 25529]
4. derecognised [Option ID = 25531]

Correct Answer :-
» supplemented [Option ID = 25529]

15) According to the Indian Constitution, the two houses of parliament must be summoned by
the President at least . [Question ID = 13889]

1. Four times a year. [Option ID = 25556]
2. Twice a year. [Option ID = 25554]

3. Thrice a year. [Option ID = 25555]

4. Once a year. [Option ID = 25553]

Correct Answer :-
e Once a year. [Option ID = 25553]

16) A web page is .
[Question ID = 13839]

1. Made up of text and HTML tags [Option ID = 25353]

2. All of these [Option ID = 25356]

3. Marked by a closing HTML tag </HTML> [Option ID = 25355]
4. Marked by an opening HTML tag <HTML> [Option ID = 25354]

Correct Answer :-
e Made up of text and HTML tags [Option ID = 25353]

17) Exploitation of labour is said to exist when .
[Question ID = 13852]

1. Marginal Revenue Product = 0. [Option ID = 25408]

2. wage < marginal revenue product. [Option ID = 25406]
3. wage = Marginal Revenue Product. [Option ID = 25405]
4. wage > Marginal Revenue Product. [Option ID = 25407]

Correct Answer :-
» wage = Marginal Revenue Product. [Option ID = 25405]

18) 1f 9th of the month falls on the day preceding Sunday, then on what day will 1st of the
month fall?

[Question ID = 13878]

1. Saturday [Option ID = 25510]
2. Monday [Option ID = 25509]



3. Friday [Option ID = 25511]
4. Tuesday [Option ID = 25512]

Correct Answer :-
» Monday [Option ID = 25509]

— I

19) The first lion safari of Rajasthan has come up at the Question ID = 13857]

1. Keoladeo National Park. [Option ID = 25427]

2. Ranthambore National Park. [Option ID = 25426]
3. Nahargarh Biological Park. [Option ID = 25425]
4. Sariska National Park. [Option ID = 25428]

Correct Answer :-
« Nahargarh Biological Park. [Option ID = 25425]

20) Which type of communication has new media facilitated? [Question ID = 13880]

1. Public [Option ID = 25519]

2. Abstract [Option ID = 25517]

3. Interactive [Option ID = 25520]
4. Conceptual [Option ID = 25518]

Correct Answer :-
» Abstract [Option ID = 25517]

21) Find the odd one out. [Question ID = 13874]

1. Needle [Option ID = 25493]
2. Nail [Option ID = 25495]

3. Screw [Option ID = 25494]
4. Hammer [Option ID = 25496]

Correct Answer :-
» Needle [Option ID = 25493]

22) Defining what is right and wrong for an individual or a community is___. [Question ID =
13893]

1. Values [Option ID = 25569]
2. Ethics [Option ID = 25571]
3. Morality [Option ID = 25570]
4. Attitudes [Option ID = 25572]

Correct Answer :-
e Values [Option ID = 25569]

23) NITI Ayog has framed a ‘National Strategy for Artificial Intelligence’. The main objective of
the strategy is . [Question ID = 13835]

1. AI for Security [Option ID = 25339]

2. Al for Environment [Option ID = 25340]
3. Al for all [Option ID = 25337]

4. Al for India [Option ID = 25338]

Correct Answer :-



 AI for all [Option ID = 25337]

24) The only existing account of the early years of Zoroastrian refugees in India is .
[Question ID = 13868]

1. Ain-i-Akbari [Option ID = 25471]
2. Rajatarangini [Option ID = 25470]
3. Qissa-i Sanjan [Option ID = 25469]
4. Qissa-i Parsi [Option ID = 25472]

Correct Answer :-
» Qissa-i Sanjan [Option ID = 25469]

25) India’s largest start-up ecosystem, known as Integrated Startup Complex (ISC), has been
launched in which of the following state? [Question ID = 13855]

1. Kerala [Option ID = 25419]

2. Punjab [Option ID = 25420]

3. Tamil Nadu [Option ID = 25417]
4. Rajasthan [Option ID = 25418]

Correct Answer :-
e Tamil Nadu [Option ID = 25417]

26) Ramesh walks 20 m North and turns right to walk 30 m. He then walks 35 m towards his
right, makes a left turn and walks 15 m. Finally he turns left and walks 15 m. The shortest
distance between his original position and final one is___. [Question ID = 13876]

1. 45 m [Option ID = 25504]
2. 65 m [Option ID = 25501]
3. 55 m [Option ID = 25502]
4. 40 m [Option ID = 25503]

Correct Answer :-
e 65 m [Option ID = 25501]

27) Ali buys a glass, a pencil box and a cup and pays Rs. 21 to the shopkeeper. Rakesh buys a
cup, two pencil boxes and a glass and pays Rs. 28 to the shopkeeper. Preeti buys two glasses, a
cup and two pencil boxes and pays Rs. 35 to the shopkeeper. The cost of 10 cups will be___.
[Question ID = 13871]

1. Rs. 80 [Option ID = 25483]
2. Rs. 70 [Option ID = 25484]
3. Rs. 40 [Option ID = 25481]
4. Rs. 60 [Option ID = 25482]

Correct Answer :-
» Rs. 40 [Option ID = 25481]

28) Increasing unemployment and inflation is a situation of . [Question ID = 13851]

1. reflation. [Option ID = 25404]

2. galloping inflation. [Option ID = 25402]
3. hyperinflation. [Option ID = 25401]

4, stagflation. [Option ID = 25403]



Correct Answer :-
« hyperinflation. [Option ID = 25401]

29) Arrange the following events/movements in the correct order of their chronology.
i. Rowlatt Act Satyagraha

ii. Civil Disobedience Movement

iii. Boycott of Simon Commission

iv. Quit India Movement [Question ID = 13866]

1. i-ii-iii-iv [Option ID = 25461]
2. i-iii-ii-iv [Option ID = 25462]
3. ii-iii-iv-i [Option ID = 25463]
4. ii-iii-iv-i [Option ID = 25464]

Correct Answer :-
e i-ii-iii-iv [Option ID = 25461]

30) Which of the following blood groups can be transfused to a patient of any blood group?
[Question ID = 13843]

1. AB Rh-D positive [Option ID = 25371]
2. AB Rh-D negative [Option ID = 25372]
3. O Rh-D positive [Option ID = 25369]
4. O Rh-D negative [Option ID = 25370]

Correct Answer :-
* O Rh-D positive [Option ID = 25369]

31) Which of the following statement is not true regarding Vitamin C? [Question ID = 13842]

1. Vitamin C is a water-soluble vitamin [Option ID = 25368]

2. Vitamin C also acts as an antioxidant. [Option ID = 25366]

3. All vitamins, except Vitamin C, are produced in the human body. [Option ID = 25365]
4. Scurvy is caused by the deficiency of Vitamin C [Option ID = 25367]

Correct Answer :-
« All vitamins, except Vitamin C, are produced in the human body. [Option ID = 25365]

32) Which of the following groups of metals are required in maximum quantities in living
organisms? [Question ID = 13841]

1. Sodium, Magnesium, Copper, Manganese [Option ID = 25364]
2. Potassium, Sodium, Magnesium, Calcium [Option ID = 25363]
3. Potassium, Manganese, Molybdenum, Calcium [Option ID = 25361]
4. Potassium, Molybdenum, Copper, Calcium [Option ID = 25362]

Correct Answer :-
o Potassium, Manganese, Molybdenum, Calcium [Option ID = 25361]

33) Which of the following is not a ‘hereditary’ disease? [Question ID = 13844]

1. Haemophilia [Option ID = 25375]

2. Sickle cell anaemia [Option ID = 25373]
3. Colour-blindness [Option ID = 25374]
4. Leukaemia [Option ID = 25376]



Correct Answer :-
« Sickle cell anaemia [Option ID = 25373]

34) Match the following:

i. Article 19(1) (a) a. right to reside and settle in any part of the country

ii. Article 19(1) (c) b. right to form associations or union

iii. Article 19(1) (e) c. freedom of speech and expression

iv. Article 19(1) (t) d. right to practice any profession, or carry on any occupation,

business or trade
[Question ID = 13885]

1.i-c;ii - b;iii - a; iv - d [Option ID = 25537]
2.i-d;ii-c;iii - a; iv—Db [Option ID = 25540]
3.i-b;ii-a;iii - d; iv - c [Option ID = 25539]
4.i-a; ii - d; iii - ¢; iv - b [Option ID = 25538]

Correct Answer :-

e i-cii-b;iii - a; iv - d [Option ID = 25537]

35) Match the following types of winds.

i. Chinook a. Warm and dry winds on leeward sides of mountains
ii. Loo b. Hot dry summer winds of Indian subcontinent
iii. Fohn c. Known as ice-eater

[Question ID = 13864]

1.i-c;ii-a;iii - b [Option ID = 25456]
2.1 -¢; ii - b; iii - a [Option ID = 25454]
3.i-b;ii - c; iii - a [Option ID = 25455]
4. i - a; ii - b; iii - ¢ [Option ID = 25453]

Correct Answer :-

e i-a;ii-b;iii - c [Option ID = 25453]

36) Match the following tribes with their indigenous states of India.

i. Bhils a. Madhya Pradesh
ii. Khasi b. Meghalaya

iii. Chang c. Nagaland

iv. Chenchus d. Andhra Pradesh

Choose the correct option.

[Question ID = 13860]

1.i-c;ii-d;iii- b; iv-a[Option ID = 25438]
2.i-d;ii-a;iii - by iv - c [Option ID = 25439]

3.i-b;ii-c;iii - a; iv - d [Option ID = 25437]
4.i-a; ii - b; iii - ¢; iv - d [Option ID = 25440]

Correct Answer :-
e i-Db;ii-c;iii-a;iv-d[Option ID = 25437]

37) Match the following schools of thought with their core idea/s and choose the correct option.
i. Constructionism a. purpose & process of consciousness & behaviour



ii. Functionalism b. the ability to grow and realize inner potential
iii. Humanism c. organization of perceptual experiences
iv. Structuralism d. human mind develops through social & cultural processes

[Question ID = 13896]

1.i-c;ii - b;iii - d; iv - a [Option ID = 25584]
2.i-d; ii - a; iii - b; iv - c [Option ID = 25583]
3.i-b;ii-c;iii - a; iv-d[Option ID = 25581]
4.i-a;ii-b;iii - ¢; iv-d [Option ID = 25582]

Correct Answer :-

e i-b;ii-c;iii - a;iv-d[Option ID = 25581]

38) Match the following political systems with the countries associated with them.

i. Constitutionally decentralized unions a. USA

ii. Indestructible Union with destructible states b. United Kingdom
iii. Confederation c. India

iv. Federation d. Switzerland

[Question ID = 13887]

1.i-c;ii - b;iii - d; iv - a [Option ID = 25547]
2.1 -d;ii-a;iii - ¢; iv—Db [Option ID = 25548]
3.i-b;ii-c;iii - d; iv-a[Option ID = 25545]
4.i-a; ii - d; iii - b; iv - ¢ [Option ID = 25546]

Correct Answer :-
e i-Db;ii-c;iii-d;iv-a[Option ID = 25545]

39) Match the following and choose the correct option.
i. Tests a. association

ii. Experiments  b. quantitative data

iii. Correlation c. standardized and objective

iv. Survey d. manipulation and control

[Question ID = 13895]

1.i-c;ii-d;iii - a; iv - b [Option ID = 25580]
2.i-d;ii-a;iii - c; iv- b [Option ID = 25578]
3.i-b;ii-c;iii - d; iv-a[Option ID = 25579]
4.i-a; ii - b; iii - d; iv - ¢ [Option ID = 25577]

Correct Answer :-

e i-a;ii-b;iii - d; iv - ¢ [Option ID = 25577]

40) Match the following and choose the correct option given below:

i. Sarojini Naidu a. First Woman President of UN General Assembly
ii. Rajkumari Amrit Kaur b. Member of Constituent Assembly

iii. Vijayalakshmi Pandit c. India’s first woman Chief Minister

iv. Sucheta Kriplani d. President of Indian National Congress

[Question ID = 13869]

1.i-c;ii-a;iii - b; iv—d [Option ID = 25476]
2.i-d;ii - b;iii - a; iv - c [Option ID = 25475]



3.1 -b;ii-c;iii - d; iv-a [Option ID = 25474]
4.i-a;ii-d;iii - ¢; iv-b [Option ID = 25473]

Correct Answer :-

e i-a;ii-d;iii-c;iv-b[Option ID = 25473]

41) Match the following Psychologists with the basic element/s of their theory.

i. Alfred Adler a. striving for justice and truth
ii. Karen Horney b. archetypes
iii. Carl Jung c. inferiority complex

iv. Erich Fromm  d. basic anxiety
Choose from the following options

[Question ID = 13899]

1.i-c;ii-d;iii - bjiv - a [Option ID = 25594]
2.i-d;ii - b;iii - @; iv - c [Option ID = 25596]
3.i-b;jii-a;iii - ¢; iv - d [Option ID = 25595]
4.i-a;ii - ¢ iii - d; iv - b [Option ID = 25593]

Correct Answer :-
e i-a;ii-c;iii-d;iv-b[Option ID = 25593]

42) Match the following

i. Kan-balle a. Punjab

ii. Chonk b. Uttar Pradesh
iii. Thuria c. Assam

iv. Meenakari d. Kashmir

[Question ID = 13903]

1.i-c;ii-d;iii - a; iv-b [Option ID = 25612]
2.i-d;ii - a;iii - ¢; iv - b [Option ID = 25611]
3.i-b;ii-c;iii - d; iv-a[Option ID = 25610]
4.i-a; ii - b;iii - ¢; iv-d [Option ID = 25609]

Correct Answer :-

e i-a;ii-b;iii-c;iv-d[Option ID = 25609]

43) Match the regional newspapers with their state of circulation.

i. Mathrubhoomi a. Odisha

ii. Dinamalar b. Kerala

iii. Sadhana ¢. Tamil Nadu
iv. Dharitri d. Gujarat

[Question ID = 13882]

1.i-c;ii-b; iii - a; iv - d [Option ID = 25525]
2.i-d; ii - a; iii - b; iv -c [Option ID = 25526]
3.1 -b;ii-c;iii - d; iv-a [Option ID = 25527]
4.i-a;ii-d;iii - ¢; iv-d [Option ID = 25528]

Correct Answer :-
e i-c;ii-b;iii - a; iv - d [Option ID = 25525]



44) Inold age, the degeneration of cartilage is common. Which of the following supplement(s)
will help in healing the above loss? [Question ID = 13840]

1. Albumin alone [Option ID = 25358]
2. Calcium alone [Option ID = 25360]
3. Tendon and calcium [Option ID = 25359]
4. Collagen and calcium [Option ID = 25357]

Correct Answer :-
« Collagen and calcium [Option ID = 25357]

45) Consider the two statements about the Relo Tribe and choose the correct option.

i. The Relo Tribal songs are a musical form practiced by the Muria and Sing Maris tribes of
Madhya Pradesh.

ii. The Relo Tribal songs are mostly sung by the children of the tribe. [Question ID = 13902]

1. Both i and ii [Option ID = 25607]
2. Only ii [Option ID = 25606]

3. Only i [Option ID = 25605]

4. Neither i nor ii [Option ID = 25608]

Correct Answer :-
e Only i [Option ID = 25605]

46) Consider the two statements about the Udaigiri-Khandagiri caves and choose the correct
option.

i. These are rock-cut caves having inscriptions of Kharavela kings.

ii. According to the inscriptions, the caves were meant for Buddhist monks. [Question ID =
13900]

1. Both i and ii [Option ID = 25599]
2. Only i [Option ID = 25597]

3. Only ii [Option ID = 25598]

4. Neither i nor ii [Option ID = 25600]

Correct Answer :-
e Only i [Option ID = 25597]

47) Hajong Tribe is indigenous to ___. [Question ID = 13901]

1. Jharkhand [Option ID = 25602]
2. Meghalaya [Option ID = 25601]
3. Telangana [Option ID = 25604]
4. Nagaland [Option ID = 25603]

Correct Answer :-
» Meghalaya [Option ID = 25601]

48) G-77 summit is a forum for____. [Question ID = 13853]

1. East-West Cooperation. [Option ID = 25410]

2. South-South Cooperation. [Option ID = 25411]
3. North-North cooperation. [Option ID = 25412]
4. North-South Cooperation. [Option ID = 25409]

Correct Answer :-



« North-South Cooperation. [Option ID = 25409]

49) The dissemination of information (usually via internet, radio, newspaper, or television) to a
target audience is called . [Question ID = 13881]

1. Broadcasting. [Option ID = 25522]
2. Tele-casting [Option ID = 25524]

3. Web casting. [Option ID = 25523]

4. Narrow casting. [Option ID = 25521]

Correct Answer :-
» Narrow casting. [Option ID = 25521]

50) 'KP-Bot'is . [Question ID = 13838]

1. Sub-Inspector ranked Humanoid Robot introduced by Karnataka Police. [Option ID = 25351]
2. SP ranked Humanoid Robot introduced by Karnataka Police. [Option ID = 25352]

3. Sub-Inspector ranked Humanoid Robot introduced by Kerala Police. [Option ID = 25349]

4. Sub-Inspector ranked Humanoid Robot introduced by Kashmir Police. [Option ID = 25350]

Correct Answer :-
» Sub-Inspector ranked Humanoid Robot introduced by Kerala Police. [Option ID = 25349]

51) Which of the following are the characteristics of Big Data?
i. Volume

ii. Variety

iii. Velocity [Question ID = 13836]

1. i, ii and iii [Option ID = 25344]

2. Only i and ii [Option ID = 25341]

3. Only ii and iii [Option ID = 25342]
4. Only i and iii [Option ID = 25343]

Correct Answer :-
e Onlyiand ii [Option ID = 25341]

52) Which of the following is not a member of the Selection Committe for the appointment of
Director, Central Bureau of Investigation? [Question ID = 13859]

1. Leader of Opposition [Option ID = 25436]
2. President [Option ID = 25434]

3. Prime Minister [Option ID = 25433]

4. Chief Justice of India [Option ID = 25435]

Correct Answer :-
» Prime Minister [Option ID = 25433]

53) Which of the following is not an important element of ethical behaviour? [Question ID =
13894]

1. Depending on the rational ethical standard taken, we can correctly organize our goals and actions to
accomplish life’s important goals. [Option ID = 25576]

2. An action is ethical depending on the consequence of that action. [Option ID = 25573]

3. Any flaw in our ethics will reduce our ability to experience satisfaction in life. [Option ID = 25574]

4. Ethics give us a baseline for understanding the concepts of right and wrong [Option ID = 25575]



Correct Answer :-
« An action is ethical depending on the consequence of that action. [Option ID = 25573]

54) Which of the following is not an important element of Mughal gardens? [Question ID =
13904]

1. Tomb [Option ID = 25615]

2. Canals [Option ID = 25616]

3. Pools [Option ID = 25613]

4. Fountains [Option ID = 25614]

Correct Answer :-
o Pools [Option ID = 25613]

55) Which of the following is not a peasants’ movement? [Question ID = 13886]

1. Telangana Movement. [Option ID = 25543]
2. Tabligh Movement. [Option ID = 25542]

3. Kheda Movement. [Option ID = 25541]

4. Tebhaga Movement. [Option ID = 25544]

Correct Answer :-
« Kheda Movement. [Option ID = 25541]

56) Which of the following is not a defense mechanism? [Question ID = 13898]

1. Intellectualization [Option ID = 25592]
2. Fixation [Option ID = 25589]

3. Sublimation [Option ID = 25590]

4. Denial [Option ID = 25591]

Correct Answer :-
« Fixation [Option ID = 25589]

57) Which of the following is not an essential element of giftedness? [Question ID = 13897]

1. High creativity [Option ID = 25586]

2. High interest [Option ID = 25587]

3. High ability [Option ID = 25585]

4. High commitment [Option ID = 25588]

Correct Answer :-
» High ability [Option ID = 25585]

58) Which of the following has been declared as a Marine Park for conservation of coral reefs by
the Government of India? [Question ID = 13845]

1. Lakshadweep Islands [Option ID = 25380]
2. Andaman Islands [Option ID = 25378]

3. Gulf of Kutch [Option ID = 25379]

4. Gulf of Mannar [Option ID = 25377]

Correct Answer :-
» Gulf of Mannar [Option ID = 25377]



59) Which of the following item is not included in Environmental Auditing? [Question ID =
13847]

1. Pollution monitoring schemes [Option ID = 25385]

2. Safety provisions for industrial works [Option ID = 25388]
3. Scrutiny by the government agencies [Option ID = 25387]
4. Storage of toxic chemicals [Option ID = 25386]

Correct Answer :-
« Pollution monitoring schemes [Option ID = 25385]

60) Which of the following statement/s is/are true?
i. Mango showers refers to the pre-monsoon rainfall.
ii. These showers help in early ripening of mangoes. [Question ID = 13862]

1. Both i and ii [Option ID = 25447]
2. Only ii [Option ID = 25446]

3. Only i [Option ID = 25445]

4. Neither i nor ii [Option ID = 25448]

Correct Answer :-
e Only i [Option ID = 25445]

61) Which of the following statement/s is/are correct?

i. According to the 2018 UNDP report, India was ranked 130th in Human Development Index
(HDI) out of 188 countries.

ii. According to 2018 report of UN Sustainable Development Solutions Network, India was ranked
133rd in World Happiness Index out of 156 countries.

iii. According to 2018 report by UNDP, India was ranked 125th in Gender Inequality Index out of
188 countries. [Question ID = 13856]

1. All of the above [Option ID = 25424]
2. Only i and iii [Option ID = 25421]

3. Only ii and iii [Option ID = 25422]

4. Only i and ii [Option ID = 25423]

Correct Answer :-
e Only i and iii [Option ID = 25421]

62) Which of the following statement/s is/are correct?

i. The major constituent mineral of granite is quartz.

ii. The major consituent mineral of sandstone if feldspar.

iii. The major constituent mineral of limestone rock is dolomite. [Question ID = 13863]

1.iand ii only [Option ID = 25451]

2. All of the above [Option ID = 25452]
3. ii and iii only [Option ID = 25449]

4. iii only [Option ID = 25450]

Correct Answer :-
e i and iii only [Option ID = 25449]

63) Which of the following alternatives bears the same relationship?
Malaria : Mosquito :: ? : ? [Question ID = 13870]

1. Chickenpox : Fungi [Option ID = 25480]
2. Plague : Bacteria [Option ID = 25479]



3. Dengue : Virus [Option ID = 25477]
4. Cholera : Water [Option ID = 25478]

Correct Answer :-
» Dengue : Virus [Option ID = 25477]

64) Which of the following is the very first prerequisite for formation of a startup? [Question ID
= 13830]

1. Brain storming [Option ID = 25318]

2. Problem inventory analysis [Option ID = 25319]
3. Focus group [Option ID = 25317]

4. Reverse brainstorming [Option ID = 25320]

Correct Answer :-
» Focus group [Option ID = 25317]

65) Six persons are sitting in a circle facing the center of the circle. Parikh is between Babita and
Narendra. Asha is between Chitra and Pankaj. Chitra is to the immediate left of . [Question ID
= 13875]

1. Narendra [Option ID = 25499]
2. Parikh [Option ID = 25497]
3. Chitra [Option ID = 25500]
4. Pankaj [Option ID = 25498]

Correct Answer :-
 Parikh [Option ID = 25497]

66) Which of the following is not an example of social innovation? [Question ID = 13831]

1. Mitti Cool — a refrigerator made entirely of mud [Option ID = 25323]
2. Swachh Bharat Abhiyan [Option ID = 25321]

3. Nano nutrient — to enhance crop production [Option ID = 25324]

4. Handing out cycles to rural poor [Option ID = 25322]

Correct Answer :-
« Swachh Bharat Abhiyan [Option ID = 25321]

67) Which of the following is not a social networking site? [Question ID = 13837]

1. Classmates [Option ID = 25346]
2. Snapdragon [Option ID = 25348]
3. Tumblr [Option ID = 25345]

4. ReverbNation [Option ID = 25347]

Correct Answer :-
e Tumblr [Option ID = 25345]

68) Present ages of Sonu and Akshay are in the ratio of 5 : 4 respectively. Three years later, the
ratio of their ages will become 11 : 9 respectively. What is Akshay’s present age in years?
[Question ID = 13877]

1. 24 [Option ID = 25507]
2. 27 [Option ID = 25508]
3. 25 [Option ID = 25506]



4. 26 [Option ID = 25505]

Correct Answer :-
e 26 [Option ID = 25505]

69) The pair of geographical areas in India having maximum biodiversity is . [Question ID
= 13848]

1. Eastern Ghats and Western Ghats [Option ID = 25392]

2. Eastern Himalayas and Western Ghats [Option ID = 25390]
3. Eastern Ghats and Rann of Kutch [Option ID = 25389]

4. Sunderbans and Rann of Kutch [Option ID = 25391]

Correct Answer :-
» Eastern Ghats and Rann of Kutch [Option ID = 25389]

70) Rahul is your best friend since childhood. He has been your greatest confidante who has

been with you through all your joys and sufferings. Both of you are in your 12t standard and
while writing your Board exams, you notice that your best friend is copying and cheating. You
will . [Question ID = 13890]

1. Wait until the exam gets over and then confront him. [Option ID = 25558]
2. Inform the invigilators on duty. [Option ID = 25557]

3. Inform his parents. [Option ID = 25560]

4. Stop talking to him. [Option ID = 25559]

Correct Answer :-
« Inform the invigilators on duty. [Option ID = 25557]

71) Which is true for the Konark Sun Temple?

i. It has a chariot shape.

ii. It is also known as Black Pagoda.

iii. It is attributed to King Narasingha Deva. [Question ID = 13865]

1. ii and iii only [Option ID = 25458]

2. i and iii [Option ID = 25459]

3. All of the above [Option ID = 25460]
4. i and ii only [Option ID = 25457]

Correct Answer :-
e iand ii only [Option ID = 25457]

72) Any loan for short duration crops is classified as Non Performing Asset (NPA) when the
installment of principal or interest thereon remains overdue for crop seasons. [Question
ID = 13854]

1. two [Option ID = 25416]
2. four [Option ID = 25413]
3. one [Option ID = 25415]
4. three [Option ID = 25414]

Correct Answer :-
 four [Option ID = 25413]

73) Sam employed 8 workers for 6 hours/day. In total, he paid them Rs. 630 for a week. How
much should have Sam paid 18 workers working 4 hours/day for a week? [Question ID = 13879]



1. Rs. 835 [Option ID = 25516]
2. Rs. 645 [Option ID = 25513]
3. Rs. 725 [Option ID = 25514]
4. Rs. 945 [Option ID = 25515]

Correct Answer :-
e Rs. 645 [Option ID = 25513]

74) The fundamental problem studied in Macro-economics is .
[Question ID = 13850]

1. flow of income. [Option ID = 25398]

2. production of income. [Option ID = 25399]
3. usage of income. [Option ID = 25397]

4, distribution of income. [Option ID = 25400]

Correct Answer :-
» usage of income. [Option ID = 25397]

75) The best method for disposal of biodegradable waste is . [Question ID = 13846]

1. vermiculture [Option ID = 25382]
2. landfill [Option ID = 25384]

3. incineration [Option ID = 25383]
4. burning [Option ID = 25381]

Correct Answer :-
» burning [Option ID = 25381]

Topic:- DU_J19_BA_HSS_T2_Eng_Opt

1) A sad song [Question ID = 13906]

1. Dirge [Option ID = 25623]
2. Knell [Option ID = 25622]
3. Ditty [Option ID = 25621]
4. Lay [Option ID = 25624]

Correct Answer :-
 Ditty [Option ID = 25621]

2) Study hard you will fail. [Question ID = 13909]

1. so that [Option ID = 25634]

2. but [Option ID = 25636]

3. if so [Option ID = 25633]

4. otherwise [Option ID = 25635]

Correct Answer :-
« if so [Option ID = 25633]

3) Indian government will bring in anti-terror laws. In this sentence, isa
normative noun. [Question ID = 13912]



1. Bring [Option ID = 25645]

2. Anti-terror [Option ID = 25647]
3. Government [Option ID = 25648]
4. Indian [Option ID = 25646]

Correct Answer :-
o Bring [Option ID = 25645]

4) ‘Had she been told me about her problem, I would have helped her.’ In the given sentence
replace the incorrect part with the options given below. [Question ID = 13914]

1. Had she told [Option ID = 25654]

2. Had she have told [Option ID = 25653]

3. If she would have told [Option ID = 25656]
4. If she have told [Option ID = 25655]

Correct Answer :-
» Had she have told [Option ID = 25653]

5) Through his hat . [Question ID = 13913]

1. talk nonsense [Option ID = 25649]
2. talk ignorantly [Option ID = 25650]
3. talk wisely [Option ID = 25652]

4. talk insultingly [Option ID = 25651]

Correct Answer :-
« talk nonsense [Option ID = 25649]

6) Our history can be seen / as a long evolutionary dialectical development / in which there
have been / a painstaking forgiving of rational and moral self. Pick the part that has an error.
[Question ID = 13915]

1. as a long evolutionary dialectical development [Option ID = 25658]
2. in which there have been [Option ID = 25659]

3. Our history can be seen [Option ID = 25657]

4. a painstaking forgiving of rational and moral self [Option ID = 25660]

Correct Answer :-
e Our history can be seen [Option ID = 25657]

7) So that (i) / one more (ii) / of sight (iii) / darkness would make (iv) /she says so, (v) /
appreciative (vi). Choose the correct sequence to make a meaningful sentence. [Question ID =
13908]

1. i; iii; ii; iv; vi; v [Option ID = 25629]
2. v; iv; ii; vi; i; iii [Option ID = 25630]
3. v; i; iv; ii; vi; iii [Option ID = 25631]
4. iv; ii; vi; i; iii; v [Option ID = 25632]

Correct Answer :-
e i; iii; ii; iv; vi; v [Option ID = 25629]

8) What can I say about them? They do not keep their words. [Question ID = 13911]

1. What could be said about them by me? Their words are not kept by them. [Option ID = 25642]



2. What can be said about them by me? Their words are not kept by them. [Option ID = 25644]
3. What can said about them by me? Their words are not kept by them. [Option ID = 25641]
4. What can be said about them by me? Their words were not kept by them. [Option ID = 25643]

Correct Answer :-
« What can said about them by me? Their words are not kept by them. [Option ID = 25641]

9) Adil did not give up the fight even though he was badly hurt. [Question ID = 13910]

1. The fight did not give up by Adil even though he was badly hurt. [Option ID = 25637]

2. The fight was not given up by Adil even though he was badly hurt. [Option ID = 25639]

3. The fight had not been given up by Adil even though he was badly hurt. [Option ID = 25638]

4. The fight was not being given up by Adil even though he was badly bruised. [Option ID = 25640]

Correct Answer :-
« The fight did not give up by Adil even though he was badly hurt. [Option ID = 25637]

10) Despite her best efforts to conceal her pain, ___. [Question ID = 13907]

1. she could succeed in doing it easily. [Option ID = 25627]

2. I could see that she was delighted. [Option ID = 25625]

3. she failed to give me an impression of her pain. [Option ID = 25626]
4. I came to know that she was hurting. [Option ID = 25628]

Correct Answer :-
« I could see that she was delighted. [Option ID = 25625]

Topic:- DU_J19_BA_HSS_T3_Eng_Opt

1) Read the following passages and answer the questions that follow.

Television can be very helpful to people who carefully choose the shows that they watch.
Television can increase our knowledge of the outside world; there are high quality programmes
that help us to understand many fields of study, science, medicine, arts and so on. Moreover,
television benefits very old people, who cannot often leave the house as well as patients in
hospitals. It also offers non-native speakers the advantage of daily informal language practice.
They can increase their vocabulary and practice listening. On the other hand, there are several
serious disadvantages of television.

Of course, it provides us with a pleasant way to relax and spend our free time, but in some
countries, people watch the 'blood tube' for an average of six hours or more a day. Many children
stare at a television screen for more hours each day than they do anything else including
studying and sleeping. It is clear that the tube has a powerful influence on their lives and that,
its influence is often negative.

Which of the following is not a positive effect of watching television? [Question ID = 13918]

1. Good for patients in hospitals [Option ID = 25672]
2. Good leisure activity [Option ID = 25671]

3. Learning of native language [Option ID = 25670]
4. Increases knowledge [Option ID = 25669]

Correct Answer :-
e Increases knowledge [Option ID = 25669]

2) Read the following passages and answer the questions that follow.
Television can be very helpful to people who carefully choose the shows that they watch.
Television can increase our knowledge of the outside world; there are high quality programmes



that help us to understand many fields of study, science, medicine, arts and so on. Moreover,
television benefits very old people, who cannot often leave the house as well as patients in
hospitals. It also offers non-native speakers the advantage of daily informal language practice.
They can increase their vocabulary and practice listening. On the other hand, there are several
serious disadvantages of television.

Of course, it provides us with a pleasant way to relax and spend our free time, but in some
countries, people watch the 'blood tube' for an average of six hours or more a day. Many children
stare at a television screen for more hours each day than they do anything else including
studying and sleeping. It is clear that the tube has a powerful influence on their lives and that,
its influence is often negative.

Which of the following conclusion can be drawn from the above passage? [Question ID = 13919]

1. Because television increases our knowledge, we must watch television. [Option ID = 25674]

2. Because television watching has many negative effects, one must regulate the hours of watching. [Option
ID = 25673]

3. Because old age people and patients need entertainment, television must be provided. [Option ID =
25675]

4. Because television affects our lives in many ways, one must choose content wisely. [Option ID = 25676]

Correct Answer :-

» Because television watching has many negative effects, one must regulate the hours of watching.
[Option ID = 25673]

3) Read the following passages and answer the questions that follow.

Television can be very helpful to people who carefully choose the shows that they watch.
Television can increase our knowledge of the outside world; there are high quality programmes
that help us to understand many fields of study, science, medicine, arts and so on. Moreover,
television benefits very old people, who cannot often leave the house as well as patients in
hospitals. It also offers non-native speakers the advantage of daily informal language practice.
They can increase their vocabulary and practice listening. On the other hand, there are several
serious disadvantages of television.

Of course, it provides us with a pleasant way to relax and spend our free time, but in some
countries, people watch the 'blood tube' for an average of six hours or more a day. Many children
stare at a television screen for more hours each day than they do anything else including
studying and sleeping. It is clear that the tube has a powerful influence on their lives and that,
its influence is often negative.

The most appropriate title of the above passage is?

[Question ID = 13917]

1. Television influences language learning [Option ID = 25665]
2. Television watching is a leisure activity [Option ID = 25667]
3. Negative effects of watching Television [Option ID = 25666]
4. None of the above [Option ID = 25668]

Correct Answer :-
» Television influences language learning [Option ID = 25665]

Topic:- DU_J19 BA_HSS_T4_Eng_Opt

1) Read the following passages and answer the questions that follow.

The advent of science is a great blessing to mankind. Science has relieved us of our "age long"
ignorance, suffering and darkness. It has proved itself to be quite an obedient servant at home,
in the field and in the factory. It has transformed our daily life.

Science has made the luxurious items cheap and has brought them within the reach of



everybody. Science has shown every care and concern for our health. It has cured us of many
chronic and incurable diseases. It has cured epidemics like cholera, plague and small pox.
Science has made traveling a pleasure. It has conquered time and distance. The airplanes have
completed the work of years in months. Science has lightened the toil of the homemaker by
placing many devices at her/his disposal. Cooking, washing and cleaning are done in the
twinkling of an eye.

But every silver cloud has a dark lining in it. Science too, is no exception to it. Science has caused
great havoc. It has made us idle. The gun powder and destructive weapons of war can prove
fatal to the wellbeing of the world. It has rendered our jobs light but has made our hearts heavy.
Lovers of peace denounce science. It has ushered in an era of disturbance, lawlessness,
instability, insecurity and barbarism. It has raised our standard of living on the foundation of
uncertainty.

Which of the following is not a negative consequence of science and technology? [Question ID =
13921]

1. It has led to lawlessness and insecurity. [Option ID = 25684]

2. It has made humans dependent on technology reducing human efforts. [Option ID = 25683]
3. Science has led to the manufacture of destructive weapons. [Option ID = 25681]

4. It has made life easier for the homemaker. [Option ID = 25682]

Correct Answer :-
» Science has led to the manufacture of destructive weapons. [Option ID = 25681]

2) Read the following passages and answer the questions that follow.

The advent of science is a great blessing to mankind. Science has relieved us of our "age long"
ignorance, suffering and darkness. It has proved itself to be quite an obedient servant at home,
in the field and in the factory. It has transformed our daily life.

Science has made the luxurious items cheap and has brought them within the reach of
everybody. Science has shown every care and concern for our health. It has cured us of many
chronic and incurable diseases. It has cured epidemics like cholera, plague and small pox.
Science has made traveling a pleasure. It has conquered time and distance. The airplanes have
completed the work of years in months. Science has lightened the toil of the homemaker by
placing many devices at her/his disposal. Cooking, washing and cleaning are done in the
twinkling of an eye.

But every silver cloud has a dark lining in it. Science too, is no exception to it. Science has caused
great havoc. It has made us idle. The gun powder and destructive weapons of war can prove
fatal to the wellbeing of the world. It has rendered our jobs light but has made our hearts heavy.
Lovers of peace denounce science. It has ushered in an era of disturbance, lawlessness,
instability, insecurity and barbarism. It has raised our standard of living on the foundation of
uncertainty.

Which of the following conclusion can be drawn from the passage? [Question ID = 13922]

1. Science has made us idle and ease loving. [Option ID = 25687]

2. Science is the answer to all our problems. [Option ID = 25685]

3. Science has immense benefits but also has negative consequences for mankind. [Option ID = 25688]
4. Because of science, we have great medical treatment. [Option ID = 25686]

Correct Answer :-
» Science is the answer to all our problems. [Option ID = 25685]

3) Read the following passages and answer the questions that follow.

The advent of science is a great blessing to mankind. Science has relieved us of our "age long"
ignorance, suffering and darkness. It has proved itself to be quite an obedient servant at home,
in the field and in the factory. It has transformed our daily life.

Science has made the luxurious items cheap and has brought them within the reach of
everybody. Science has shown every care and concern for our health. It has cured us of many
chronic and incurable diseases. It has cured epidemics like cholera, plague and small pox.



Science has made traveling a pleasure. It has conquered time and distance. The airplanes have
completed the work of years in months. Science has lightened the toil of the homemaker by
placing many devices at her/his disposal. Cooking, washing and cleaning are done in the
twinkling of an eye.

But every silver cloud has a dark lining in it. Science too, is no exception to it. Science has caused
great havoc. It has made us idle. The gun powder and destructive weapons of war can prove
fatal to the wellbeing of the world. It has rendered our jobs light but has made our hearts heavy.
Lovers of peace denounce science. It has ushered in an era of disturbance, lawlessness,
instability, insecurity and barbarism. It has raised our standard of living on the foundation of
uncertainty.

Which of the following will be an appropriate title for the given passage? [Question ID = 13923]

1. Science: greatest blessing to mankind [Option ID = 25691]

2. Science is a good servant but a bad master [Option ID = 25689]
3. Science and Technology: boon or bane [Option ID = 25690]

4. The destructive nature of science [Option ID = 25692]

Correct Answer :-
» Science is a good servant but a bad master [Option ID = 25689]

Topic:- DU_J19 BA_HSS_T5_Eng_Opt

1) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of
ideas in Europe. It was described as the liberation of man from self-imposed tutelage. ‘Dare to
use your own understanding,’ is the motto of Enlightenment. Self-thinking was to seek the
highest touchstone of truth in one's self, i.e. one's own reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of
philosophical speculation, but agreed on many fundamental issues. These issues includes placing
indomitable faith in the idea of progress, the need to apply scientific methods, and perceiving
reason to be the best guide available in conducting life. The basic idea underlying all the
tendencies of enlightenment was the conviction that human understanding is capable, by its own
power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering
it. Rousseau, a product of the Enlightenment, was aware of these developments. What
differentiated him from his contemporaries was his contempt for knowledge, and his strong
conviction of its uselessness in explaining the individual's political conduct.

An appropriate title of the above passage would be ____. [Question ID = 13927]

1. Rousseau - an enlightened philosopher [Option ID = 25707]
2. Human as a reasoning being [Option ID = 25708]

3. The age of tutelage [Option ID = 25705]

4. Age of reason [Option ID = 25706]

Correct Answer :-
« The age of tutelage [Option ID = 25705]

2) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of
ideas in Europe. It was described as the liberation of man from self-imposed tutelage. ‘Dare to
use your own understanding,’ is the motto of Enlightenment. Self-thinking was to seek the
highest touchstone of truth in one's self, i.e. one's own reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of
philosophical speculation, but agreed on many fundamental issues. These issues includes placing
indomitable faith in the idea of progress, the need to apply scientific methods, and perceiving
reason to be the best guide available in conducting life. The basic idea underlying all the



tendencies of enlightenment was the conviction that human understanding is capable, by its own
power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering
it. Rousseau, a product of the Enlightenment, was aware of these developments. What
differentiated him from his contemporaries was his contempt for knowledge, and his strong
conviction of its uselessness in explaining the individual's political conduct.

The meaning of tutelage is ___. [Question ID = 13928]

1. To attain scientific temper [Option ID = 25712]

2. An act of guarding or protecting. [Option ID = 25710]
3. To achieve mastery [Option ID = 25711]

4. Incapability of reasoning. [Option ID = 25709]

Correct Answer :-
» Incapability of reasoning. [Option ID = 25709]

3) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of
ideas in Europe. It was described as the liberation of man from self-imposed tutelage. ‘Dare to
use your own understanding,’ is the motto of Enlightenment. Self-thinking was to seek the
highest touchstone of truth in one's self, i.e. one's own reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of
philosophical speculation, but agreed on many fundamental issues. These issues includes placing
indomitable faith in the idea of progress, the need to apply scientific methods, and perceiving
reason to be the best guide available in conducting life. The basic idea underlying all the
tendencies of enlightenment was the conviction that human understanding is capable, by its own
power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering
it. Rousseau, a product of the Enlightenment, was aware of these developments. What
differentiated him from his contemporaries was his contempt for knowledge, and his strong
conviction of its uselessness in explaining the individual's political conduct.

Rousseau had contempt for knowledge and reason because ____. [Question ID = 13925]

1. It cannot explain individual’s political conduct. [Option ID = 25698]

2. It does not liberate man from science. [Option ID = 25699]

3. It does not allow humans to have mastery of the world. [Option ID = 25700]
4. Tt does not allow for complete comprehension of the world. [Option ID = 25697]

Correct Answer :-
It does not allow for complete comprehension of the world. [Option ID = 25697]

4) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of
ideas in Europe. It was described as the liberation of man from self-imposed tutelage. ‘Dare to
use your own understanding,’ is the motto of Enlightenment. Self-thinking was to seek the
highest touchstone of truth in one's self, i.e. one's own reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of
philosophical speculation, but agreed on many fundamental issues. These issues includes placing
indomitable faith in the idea of progress, the need to apply scientific methods, and perceiving
reason to be the best guide available in conducting life. The basic idea underlying all the
tendencies of enlightenment was the conviction that human understanding is capable, by its own
power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering
it. Rousseau, a product of the Enlightenment, was aware of these developments. What
differentiated him from his contemporaries was his contempt for knowledge, and his strong



conviction of its uselessness in explaining the individual's political conduct.
The basic assumption of the enlightenment age is .

[Question ID = 13926]

1. Humans have scientific understanding of the world. [Option ID = 25703]
2. Humans are self-thinking individuals. [Option ID = 25702]

3. Humans are capable of rational choices. [Option ID = 25701]

4. None of these [Option ID = 25704]

Correct Answer :-
« Humans are capable of rational choices. [Option ID = 25701]

Topic:- DU_J19_BA_HSS_T6_Eng_Opt

1) Read the following passages and answer the questions that follow.

In 1906, South Africa, under the leadership of Mahatma Gandhi, conducted a massive struggle
against racial discrimination. In the beginning, Gandhi used the term “passive resistance,” this
phrase gave rise to confusion and was considered as the weapon of the weak. Gandhi, thus felt a
need for an appropriate word for the new kind of resistance and announced a small prize in his
weekly. Shri Magnalal Gandhi suggested the word “Sadagraha” meaning firmness in a good
cause. Gandhi felt that it does not represent full meaning. Gandhi corrected it to ‘satyagraha’
which literally means insistence on truth or the pursuit of the truth.

The word satyagraha is of Sanskrit origin. It is a compound word formed of ‘satya’ and ‘Agraha’,
satya means truth and agraha means holding fast, adherence, insistence. Thus the word
satyagraha means clinging to truth, holding fast to truth, insistence on truth or firm adherence to
truth. Satyagraha is the law of love. It is not to destroy or harass the opponent, but to convert or
win him over by sympathy, patience and self-suffering. Satyagrahi hates all evils and will never
compromise with it; he approaches the evil-doer through love and realization. Gandhi evolved
satyagraha in South Africa and later developed and widely used it in India.

Why did the term “passive resistance” lead to confusion? [Question ID = 13931]

1. Because it taught people to aggress. [Option ID = 25724]

2. Because it was a weapon of the weak. [Option ID = 25721]

3. Because it emphasized a struggle with love. [Option ID = 25723]
4. Because it was used unsuccessfully. [Option ID = 25722]

Correct Answer :-
» Because it was a weapon of the weak. [Option ID = 25721]

2) Read the following passages and answer the questions that follow.

In 1906, South Africa, under the leadership of Mahatma Gandhi, conducted a massive struggle
against racial discrimination. In the beginning, Gandhi used the term “passive resistance,” this
phrase gave rise to confusion and was considered as the weapon of the weak. Gandhi, thus felt a
need for an appropriate word for the new kind of resistance and announced a small prize in his
weekly. Shri Magnalal Gandhi suggested the word “Sadagraha” meaning firmness in a good
cause. Gandhi felt that it does not represent full meaning. Gandhi corrected it to ‘satyagraha’
which literally means insistence on truth or the pursuit of the truth.

The word satyagraha is of Sanskrit origin. It is a compound word formed of ‘satya’ and ‘Agraha’,
satya means truth and agraha means holding fast, adherence, insistence. Thus the word
satyagraha means clinging to truth, holding fast to truth, insistence on truth or firm adherence to
truth. Satyagraha is the law of love. It is not to destroy or harass the opponent, but to convert or
win him over by sympathy, patience and self-suffering. Satyagrahi hates all evils and will never
compromise with it; he approaches the evil-doer through love and realization. Gandhi evolved
satyagraha in South Africa and later developed and widely used it in India.

Consider the following statements regarding Satyagraha and choose the correct option.



i. Mahatma Gandhi coined the word Satyagraha while living in South Africa.
ii. It means speaking and asking others to speak the truth all the time. [Question ID = 13930]

. Only ii [Option ID = 25718]

Both i and ii [Option ID = 25719]
Only i [Option ID = 25717]

. Neither i nor ii [Option ID = 25720]

A wWN

Correct Answer :-
e Only i [Option ID = 25717]

Topic:- DU_J19 BA_HSS_T7_Eng_Opt

1) Read the following passages and answer the questions that follow.

Some people are known to be born leaders. The quality runs in their family; it is in their genes.
Others are inspired by such people and work upon embedding this quality. Some fail at achieving
it; others are successful in attaining it through continual efforts. While leadership is a powerful
quality, leaders possess various other qualities in addition to it that make for their popularity.
Some of the qualities of a good leader are honesty, communication, self-confidence,
transparency and patience.

Honesty is one of the main qualities of a leader. A leader leads by example. So, if you want your
team to look up to you, have faith in your ideologies and follow fair means in the tasks you
assign them, it is imperative for you to be honest yourself. A deceitful person may attract people
by way of manipulation; however, he will soon lose his credibility. A leader does not think of
himself as superior to you and thus does not believe in maintaining a distance. He rather ensures
a flow of two-way communication to share ideas, discuss issues and maintain a cordial relation.
The level of self-confidence leaders possess is impeccable. They are sure about themselves and
know exactly how to put their point across to inspire their audience. Good leaders also have
confidence in their team. Good leaders do not hide facts or plays games. They maintain
transparency while dealing in both personal and professional relationships. This is one of their
traits for which they are highly trusted and respected. A person who is impatient loses temper
frequently and can never qualify to be a good leader. Possessing patience is one of the main keys
to becoming a good leader. Only if a person is patient can he understand the mistakes of others
and help them evolve.

An honest leader ____. [Question ID = 13934]

1. is credible to its followers. [Option ID = 25735]

2. is deceitful to its followers. [Option ID = 25734]

3. believes in one-way communication. [Option ID = 25736]
4. is superior to its followers. [Option ID = 25733]

Correct Answer :-
e is superior to its followers. [Option ID = 25733]

2) Read the following passages and answer the questions that follow.

Some people are known to be born leaders. The quality runs in their family; it is in their genes.
Others are inspired by such people and work upon embedding this quality. Some fail at achieving
it; others are successful in attaining it through continual efforts. While leadership is a powerful
quality, leaders possess various other qualities in addition to it that make for their popularity.
Some of the qualities of a good leader are honesty, communication, self-confidence,
transparency and patience.

Honesty is one of the main qualities of a leader. A leader leads by example. So, if you want your
team to look up to you, have faith in your ideologies and follow fair means in the tasks you
assign them, it is imperative for you to be honest yourself. A deceitful person may attract people
by way of manipulation; however, he will soon lose his credibility. A leader does not think of
himself as superior to you and thus does not believe in maintaining a distance. He rather ensures



a flow of two-way communication to share ideas, discuss issues and maintain a cordial relation.
The level of self-confidence leaders possess is impeccable. They are sure about themselves and
know exactly how to put their point across to inspire their audience. Good leaders also have
confidence in their team. Good leaders do not hide facts or plays games. They maintain
transparency while dealing in both personal and professional relationships. This is one of their
traits for which they are highly trusted and respected. A person who is impatient loses temper
frequently and can never qualify to be a good leader. Possessing patience is one of the main keys
to becoming a good leader. Only if a person is patient can he understand the mistakes of others
and help them evolve.

Consider the following statements concerning leaders and choose the correct option.

i. Leaders are born.

ii. The five essential elements of a good leader are honesty, communication, self-confidence,
transparency and patience. [Question ID = 13933]

1. Both i and ii [Option ID = 25731]
2. Only ii [Option ID = 25730]

3. Only i [Option ID = 25729]

4. Neither i nor ii [Option ID = 25732]

Correct Answer :-
e Only i [Option ID = 25729]

3) Read the following passages and answer the questions that follow.

Some people are known to be born leaders. The quality runs in their family; it is in their genes.
Others are inspired by such people and work upon embedding this quality. Some fail at achieving
it; others are successful in attaining it through continual efforts. While leadership is a powerful
quality, leaders possess various other qualities in addition to it that make for their popularity.
Some of the qualities of a good leader are honesty, communication, self-confidence,
transparency and patience.

Honesty is one of the main qualities of a leader. A leader leads by example. So, if you want your
team to look up to you, have faith in your ideologies and follow fair means in the tasks you
assign them, it is imperative for you to be honest yourself. A deceitful person may attract people
by way of manipulation; however, he will soon lose his credibility. A leader does not think of
himself as superior to you and thus does not believe in maintaining a distance. He rather ensures
a flow of two-way communication to share ideas, discuss issues and maintain a cordial relation.
The level of self-confidence leaders possess is impeccable. They are sure about themselves and
know exactly how to put their point across to inspire their audience. Good leaders also have
confidence in their team. Good leaders do not hide facts or plays games. They maintain
transparency while dealing in both personal and professional relationships. This is one of their
traits for which they are highly trusted and respected. A person who is impatient loses temper
frequently and can never qualify to be a good leader. Possessing patience is one of the main keys
to becoming a good leader. Only if a person is patient can he understand the mistakes of others
and help them evolve.

From the above passage which of the following conclusion can be drawn? [Question ID = 13935]

1. A good leader always has self-confidence. [Option ID = 25738]
2. A good leader inspires others. [Option ID = 25740]

3. A good leader is always patient. [Option ID = 25737]

4. A good leader is hard to find. [Option ID = 25739]

Correct Answer :-
» A good leader is always patient. [Option ID = 25737]

Topic:- DU_J19_BA_HSS_T8_Hin_Opt



1) #NRFR F GRT FT arer 068 F #7471 Fed 82
[Question ID = 13937]

1. <= Sersh [Option ID = 25745]

2. 2Tsc Sy [Option ID = 25746]

3. 31faTHarEY Seres [Option ID = 25748]
4, RQEAIEY Srerek [Option ID = 25747]

Correct Answer :-
« THTIY s [Option ID = 25745]

2) form waA F QA ug werre gtar § 39wl w1 wHw Fea §?
[Question ID = 13938]

1. ag‘qﬁ'% [Option ID = 25750]

2. gded [Option ID = 25752]

3. 3regAdtaTa [Option ID = 25751]
4. dcqew [Option ID = 25749]

Correct Answer :-
o TCLRY [Option ID = 25749]

3) 3TURYT & TYR 9T Q' HT STYRYT TUT 8. [Question ID = 13942]

1. #ei= [Option ID = 25766]
2. 98 [Option ID = 25767]
3. &drsad [Option ID = 25765]
4. drefed [Option ID = 25768]

Correct Answer :-
« &dsaT [Option ID = 25765]

4) emErer! 147 3¢ $hr & [Question ID = 13946]

1. we=T2eRarerT [Option ID = 25781]

2. FgFaarg [Option ID = 25784]

3. AEFafearearaa [Option ID = 25783]
4, sToTErSRarEd [Option ID = 25782]

Correct Answer :-
o URaATdHarey [Option ID = 25781]

5) g, %, FT 3TARYT T ¢ [Question ID = 13943]

1. dreled [Option ID = 25771]
2. &drsad [Option ID = 25770]
3. 37537 [Option ID = 25772]
4, %dg [Option ID = 25769]

Correct Answer :-
« oY [Option ID = 25769]

6) ‘& TER A A5 AR



[Question ID = 13944]

1. I8 a1 & 76T & [Option ID = 25776]

2. Ig Gt |EY & [Option ID = 25773]

3. I areFg qI g aTeid & [Option ID = 25774]

4, Ig T di=it T TS A ITeld g [Option ID = 25775]

Correct Answer :-
« g a1eFg WET & [Option ID = 25773]

7) ‘@AY’ Aeg H FidT AT TAH 82
[Question ID = 13939]

1. gfa9] [Option ID = 25755]

2. gged [Option ID = 25754]

3. dcq®y [Option ID = 25756]
4, HAYRY [Option ID = 25753]

Correct Answer :-
o FHHYURY [Option ID = 25753]

8) 2real ¥ gaRT S ellfer gelt & 3/ F&l §... [Question ID = 13941]

1. 3127 [Option ID = 25763]

2. ehd [Option ID = 25762]

3. S1%7 [Option ID = 25761]

4, T8 ¥ IS A&T [Option ID = 25764]

Correct Answer :-
o &1 [Option ID = 25761]

9) ST afse FLM a8 WHA &9 ¥ [Question ID = 13945]

1. G¥earerdT [Option ID = 25780]

2. fAfqare [Option ID = 25778]
3. Tegrdearey [Option ID = 25779]
4. GgeFcarerg [Option ID = 25777]

Correct Answer :-
* GYFcared [Option ID = 25777]

10) #HgIm___ s § [Question ID = 13940]

1. dcd# [Option ID = 25758]
2. fagelY [Option ID = 25757]
3. ¢2rST [Option ID = 25760]
4. dgd [Option ID = 25759]

Correct Answer :-
o f3efY [Option ID = 25757]

Topic:- DU_J19_BA_HSS_T9_Hin_Opt



1) fArafaf@a dair & 98 3k meat #13eaw & |
u%msﬂ#nﬂwwarcnﬁﬁm%ammw%ﬁ:maaﬁmmﬁmmlma’ra:m'ﬁr
mmaﬁmmlWﬁvﬁﬁwaﬁﬁm#mﬁaﬁmmﬁw%lmaﬁm
?ﬂﬂﬁmmM|mﬁ#nﬁmﬁ@rmﬁmﬁma:msommmmaﬁwm?ﬂwd’rﬂ?
¢1 519 Afgen v, gewal va e it A qev vure woefae sqawdr 7 srveh sfde feme & o @s
FT AT ¥, a9 379l AT Y AHAATIEF T F F AT 37 g Y NN @1 ) 939w, /gy § v @vr g
TN, IR-THR) FEUT Wt Aot 37 QU weder yare #¥| Afgenat & ot s-8k Wy a9 & 3o
HTCATARETH T HER G191 G BT & FIABTS F 1T & § ATHAHT T A1) H1 3561 & H1T oist, JISTT 971, ST
fraraae #3a, fohr AR v 35 Ay Fe 7 |arH qaei

AN YT @ A g Hf-Rarst F s afger va aifdest # @@ 3R Rfe e §) 5o srftart &
AAFIRAT AET g F ARAIT 3% anet & IR 1@ velt &1 JIfAFRY F F1r & 319 Ffeat v sit s
FIATAT SATAT HATF §| 3ot WATSN A o8 & WY AT & F1F FT1 ghar ¢ | FATer 7 99 AR Afgar St &
WWWﬁm%IMW#WWﬁmﬁme Ao, e,
AT AAPRT T Hdcal F SF F AR g Th| 3¢ AaR-faa, Hm,arﬁaﬂ’ra;mwﬁs?rmﬁﬁ
FI R o1 & 9fa STEF WAl THY 1 ORI 50 PR I AARIRAT 3T FUA & foT 39T ) @
T, RaR-fawd, gar-wes 7 wifter & Areaw & SRt # faias feqa w3 8 Seres a9 |
Argier # 3 vy awq &

[Question ID = 13948]

1. 0T st i &TAdT & TTY AHTUSRT T FHledi & Iid SAERwhdT [Option ID = 25792]
2. fAUTT Aot 1 &THAT & A1 FTfet HTUFRT T SAFRRY [Option ID = 25791]

3. fAoTr oY Y &77ar & T2y arEdfasRdr i ST [Option ID = 25789]

4, T St FT &THAT & T ATATSIS AfA-Rarair ¥ SAwRT [Option ID = 25790]

Correct Answer :-

o TAURT o Fr &THAT & TTY IEATASHdT ST SATAHRT [Option ID = 25789]

2) FFafaf@d darer w1 93 3 weat &1 3cax & |

AR F Aor 7 Sedea F Aet ¥ 96 ITARIF ¢ R & ¢ ageeh R fra S| FeE F aR A
FoTehT AT oY ST FU| mmmaﬁﬁm#mmﬁmmﬁm%lmﬁm
AT & qEeTa 1T 19| qam?ﬂ#uf?maﬁaﬁrﬂwﬁmﬁmaimsommmmﬁmmwaﬂé
¥ 519 Afyen val, Hewal vd 3wy afafaet $t 9o gure Terfae caaen A e sfAe e & e @sn
F T §, 9 37901 AT F FhAATIEF T I F AT 3¢ g Y AR AT ) T390, W € T W v
TN, I-THR) e’ w3t et 37 QU WEAeT yare #X| ARt ¥ it se-5k weg a9 & 3
ATATIATT T R 11 T BR F HIHAGIST F AT & § ATHHAT T GATIA) Y doh! & H19T A, AT 9e1et, IeTehT
e #3a, Aok AR ve 35 Ay Fe 7 gare |

AN AU @ AT Ao AfF-Narat & st #afgear va sifdwsit # 3@+ 30FR R v ) g9 30sR
ATAHIRGT AT g F ATRATE 3% T F afAT 1@ e &1 FRAFRY & a1 € 379 Feear i oft Sy
FIATAT SATAT HARTF §| 378 TATS A o8t & WY FATHT & FF FIT giar ¢ | FATST 7 939 AR Afgan St
et aRared st # Tara §) ) wHTer 7 W sxaeyr w FEfa Y Gwd s, aenfes, aifds,
T FAPRT T Hdcal A SF A AN 8 T 3¢ AaR-TA7, T, TFATA & ATEIA @ &7 AAFIRET
) AR T8 & 9f SR (@ ST §1 T 39 YhR Y SAASTRAT STeretl 0o F AT 39T FIcd! #
Tard, faR-fws, gen-wees 7 wiftey & Arew ¥ Il F R RAeqa 3 3 e a6l 1§
TaTelt SqaET Y FREdT ¥ HTARAF ¥

i.TUTART 31T T WEAer

il. AR T R-TIHRT TEATHT T qgIET

iii. geT & ary Rt &1 gk

foreet & & 9 T 1 9IS FX:

[Question ID = 13950]

1. @Y [Option ID = 25800]

2. %ad ii 3 iii [Option ID = 25798]

3. had i 3 iii [Option ID = 25799]
4, Fhadl i 31X ii [Option ID = 25797]



Correct Answer :-
o hadl i 3R ii [Option ID = 25797]

3) fafaf@a daier # 9 sk et w1 3ea7 & |

ARt F efwor 7 Sehea F Ael ¥ I6a ITARTF ¢ R & ¢ ageeh R fra Sme) e F A
FoTehT AT oY ST FU| mmmaﬁﬁm#mmﬁmmﬁm%lmﬁm
AT & SEeTa AT 19| qam?ﬂ#uf?maﬁaﬁrﬂwﬁmﬁmaimsommmmﬁmmwaﬂé
¥ 519 Ay val, Hewal vd 3wy afafaft St 9o gure Terfae caawn A e sfAe e & e @sn
F T §, A 31901 AT F FhAATIEF T I F AT 37 g FY AAR AT 8 T3, W1 € T W v
TN, I-THR) FEUT’ w3t Aot 37 U WEAeT yare #Y| ARt & it s-ok weg a9 @ 3
ATATIRATT T R &1 T BX F HIHAGIST & AT & I ATHHAT T GATIAT Y doh! & H19T A, AT 9e1et, IeTehT
s #34, Aok A ve 35 Ay e 7 gare |

AN AU @ AT aHAToe AfF-Narat & s #afgear va sifdwsit 1 3as 30FR R v ) g9 30sRY H
AAHIRGT AT g F ATRATE 3% T F afAT 1@ F1c &1 FRAFRY & a1 € 379 Feear H ot Sy
FIATAT SATAT HTRTF §| 378 TATS A o8t & WY FATHT &1 FTF FIT giar ¢ | FATST 7 939 AR Afgan St
et aRared st # Tara §) ) wHTer 7 ¥ svaeyr w FEfa = Gww FeE, aenfos, afds,
T FAPRT T el A SF A AN 8 T 3¢ AaR-TA7, T, TFATA & ATEIA T o7 AAFIRE!
) AR 98 & 9f SR (@ ST §1 T 39 YhR Y SAASTRAT 3Teretl F0e F AT 39T FIcdT #
T, faR-fwd, gen-wees 7 wiftey & Areaw ¥ IEEiEl F AR RAega F 8 e a6l 1§
afgen3i Ft B1-B1 THE Fo F e FE W Raw-fawst & =7 amer g

i. ArcATaRaTE

il. I THT/ ATl Y doF & T o A Ao i avAant 1 Qe

[Question ID = 13949]

1. 578 & $IS =181 [Option ID = 25796]
2. &ad ii [Option ID = 25795]

3. hadl i [Option ID = 25793]

4, i 3 ii 1At [Option ID = 25794]

Correct Answer :-
e had i [Option ID = 25793]

Topic:- DU_J19_BA_HSS_T10_Hin_Opt

1) fRrafaf@a e #1 9¢ 3K veal FT 3w & |

HRA TFR & AT T AT AAAT GTRT TF FAHA ATeelT FATEHT ToTAT 3T 1T § Forash srqumon
1986 #r 71§ fraT yorrel & 33 ¥ $H FREAFH FT AT 3227 FAAR, R, Teler quit Fr Afgensit 7 arforawrsit
ﬁﬁmﬁwmm%lwmw*mﬁmﬁmw#m SgTagTa A&t &1
waATaer o oran 1 s6e Arare | T A, T F HET a7 AT - FqE W aAwe R a e
wwﬁmmﬁﬁmm#uﬁwﬁﬁmamﬂwaﬁm#amﬁamm%lm
Wﬂ‘ﬁﬁﬁﬂmnﬂ%m#mmmﬁmﬂwm%lmﬁwmmm IO TS
o, e w0 & Ao va afRa ARt # 59 997 a9 § & § sraer-gaer gz 3K sreafdeary
AT St FHEATET & I 7F AR gAY wenfas {fA-Raet F Reg @3 g 3rvs srfae i an & o
FOE FT T | AT F AT THATEAT FRIFH 397 F 11 AT 3 Fanfard A o1 @7 8, forers 3cavas it o
gl

IcAIES U H I8 FEFH 6 foral Red, i, Sefara, scavarell, guraa 7 4w R 91 & 21 RemwEst
TATIT AT TET &, FHAA 2047 aifat Y AR amnfead &) W &1 #Afgen gaTEw Fw J 3cavr@s $ arHor
AR F TF FT RAT ¥ TaT FY GHSTS FT IUT WY &THAATIHT F gHSH AR F BT F AT 3701 399
& & fAT| FIwH F arfior A3 Ft 57 TFR IR F F1 9Aw BT F T 39 &F T ftwni
A Th| AT FATEAT I R ArAIor &= # Afen gut & [AEaR, Afger ararar a Rren, avey [y, 3a9%
Tl FafFaevr, Tsifas agfarar, Rt aerRar 7 396 FrRsTaEaTr & e & v 135 T E )
FaATT # Afen gATEAT ScawrEs A Afgensit & v werfFasor F1 ATeae T 47 ¥ A F1 FAFR arAtor
&1l T TEAT ¥ SIS AT HTANT GIRT ARSI FATEAT SccIEE HT T TR ST 38 Frdshar H1 fafdrse



gt A ST FF B

3 FRAHH F HET 3227 ¢

i.FAAR, aﬁaaﬁa?mﬁrmﬁaaﬁamﬁaﬁﬁmﬁmaﬁﬁaam
ii.cgagIie faT &1 ATy

ili.aTaTdY @ &1 e

iv. T F FE AT FaEAAT FIAT WIATTNF Hal H1 T fAmar

foeer & ¥ wE Fe F1 THT T

[Question ID = 13953]

2 A | 3?1'{ iii [Option ID = 25809]
3. shadl i, i 3R iv [Option ID = 25811]
4, ad i, i 3T iii [Option ID = 25812]

Correct Answer :-
o had i 3R iii [Option ID = 25809]

2) Pt darer &1 93 3K weat &1 3cax & |

HRT TIHR F ATTd WA [AFTH HATIT GaRT Tk HIEHH ATGAT FATSAT TATIT ST 76T & Forwehr raerom
1986 FT 7§ T yorreh ¥ 3378 1 50 FAFH 1 HET 3227 FHAR, afd, fveler qait i afeensit 7 arfowat
ﬁﬁmwmaﬁﬁaamhwxﬁw#mﬁaﬁmaﬁwmﬁ#&uﬁwmﬁmﬁmm
roTer e aran §| gt AT BT P R, € & 9t Ut G- e O aHe Rt S
wmﬁ?mmw#mmﬁwmammﬁm#am%mm%lm
m%mwmﬁ%mﬁmmmmm%lmﬁwmmm IEEILETY
AT, 3T 7 & Ao v 3T AR B 57 20T 41T & B F 39T-ga9T U= 30 SrcAfaeary $r
FHY St FAEATET @ S5 9§ AR qwEarEr antorE dfa-Rarst & Reg @3 e e sfaca i wn & v
U FT Toh| TIATT H AT TATEAT FEAFH 2T & 11 TSI A Fafad 641 571 T 8, [ 3cau@s st v
gl

ICAIEE U H T8 FRFA 6 fora Red, 91, Sefare, scaxaeh, 9urad 7 34w g 791 & 21 Remwst
TATIT ST TET &, Fd 2047 aifat F AR amnfead &) W& &1 A gATEw FFHA S Scair@s Y FrHor
AT F TF FT AT § TaF FY THSTS FT dUT Y &TAATIA F) AR ATt & Ba F forw 371 3929r
FA & fT| FTIHH F FrHior AR F 37 TFR I F F1 9 A1 7 39 & T ARt A
A Th| AT FATEAT g F arior &= F Afgen gut & Rear, afgar aawar g R, ey fufy, sa%
T FafFasior, sfas agsnfarar, Rt aerar 7 396 s & e F v 13 TR )
FAAT # AT FATEAT s Fr Afgarsit & v FerfFasor F1 ATCAHT ao AT 71 G F7 AFfUFR amior
Maﬁqﬁﬁ%ammmmmmmmmmm%mmwmﬁm
St w1 o aEdt ¥

AR GHATEAT FRAFH A0S 3ratre FT AaRor feT sl @ &3 F Far 2

[Question ID = 13954]

1. A&t 3uaIfstr & &13 [Option ID = 25815]

2. Wqﬁa?muawmé? &1 [Option ID = 25816]
3. Afgrs % &1 [Option ID = 25813]

4, mqgaama:m [Option ID = 25814]

Correct Answer :-
. A= qg”a % &9 [Option ID = 25813]

3) farfaf@a @i ) 3 3 Teal F13caw & |

HRT AUHR F AT HATH [AFT AATCT GaRT T FHIEFHA ATGAT FATESAT TN A1 16T § ey sraemon
1986 #r 71§ TraT Yol & 33 ¥ $H FREAFH FT ALY 3227 FAAN, R, Teler quit Fr Afgensit  arforawrsit
ﬁﬁqugvaﬁﬁaam%lwma:mﬁmaﬁmwﬁm SgTagT A&t 1
qaTaer T a1 g1 S0 Ay | 1 R, T F FEt aur amfors-anfiE qE W awst Refid aen
wmmmw#mmﬁmamﬁm#ammmmm



wATEAT AT vgT vd suAtey F & # AT e H1 ST FIA ¥ gwhT 3827 Arefor Afensi, Rervaw
AT, IfE w0 @ o vd afa ATt 1 57 A a1 § B & eeT-geer gga 3R srcAfdearT A
A St FHEEATET @ SF7 wF AR qHaEY wenfas {fA-Reet F Reg @3 g 3 srfae i an & o
FOE FT T | TIAT H AT THATEAT FRFH 397 F 11 AT 3 Fanford a1 o1 @7 8, forere 3cavas it o
gl

IcAIES U H I8 FEFH 6 foral Red, i, Aehara, scavarel, guraa 7 4w R 791 ¥ 21 RAewEst
TATIT AT TET &, FHAA 2047 aifat Y AT smnfead &) W& &1 #Afeen garew F1dw S cavr@s i arHor
AR F TF FT RAT § TaT FY GHSTS FT IUT T eTHAATIHT FY gHSH AR F BT F AT 3701 399
& & fAT| FIwH F Arfior A3 Ft 560 TFR 7T F F1 9Aw BT F T 39 &F T Afwni
A TS| AT GATEAT Tg H1 AT &= # Afger waf F fAEar, Afger anerar 9 Qe ey ufy, 39¢
T FATFIHIor, Tsi=ifas TgHTiaar, Rt aeRar 7 396 FrReTAEdar & e & v 135 FT @ )
TAAT H AT FATEAT 3catras Y ATt & forw gerfFaaor w1 ATeAA o7 7471 §1 G F1 SR arHior
Mﬁmﬁﬁmmmmmmmmmﬁmmwmﬁﬁm
mmmw%l

aEier F FAT AT 3% 8

[Question ID = 13952]

1. 37TeH-favare # gfig [Option ID = 25808]

2. AfgeT FATEAT TATFARIOT [Option ID = 25805]
3. AT ATEAT S [Option ID = 25806]

4, Afge3iT 1 s [Option ID = 25807]

Correct Answer :-
o FAfgem FaATEAT FefFaeor [Option ID = 25805]

Topic:- DU_J19_BA_HSS_T11_Hin_Opt

1) i@ aaier &1 93 3R weat &1 3cax & |

gferar & :1$ off arer Sor 7dl & Forwar we € Aty aur AUt Fawt F1 v FF FAT dF Hedg oA @ AwrfE

T 3R sRa o foram §1 iy, 1 saisT wae d=Tie ATaoT @ AaRE 8 9F &, 3uHT GAITT & a1 AR

3R W FI 97 ATHH FA H AT 70 39 A1 e Fqerd e aRwed a1 3w &2t F Ao s aradia

FfFATar ) AR A

feTd a & uea & a1g & g geUF F T 7 o U Aeradiar mem H qfvas) gfaar & awrew F1 vy g

& fow AR @ faee fram 1, o« wsgufar SRW Ieaf@er A oRa & wry Aifaara gor & Ay waul w1 ofia 39

mﬁﬁaﬁ#w#mwﬁmu’gmmmw%a:aemawﬁﬂm#wr%mmaﬁ
31 f afvest dait & wry o-vohfaT wfdgagfaar ot g & am sit wwrea 7€t 8 1 6 7, 2000 # i gfaw
umﬁﬁaﬂmﬁ*nﬁ#*ﬁatamfrmmﬁaﬁrm 9T Mg evorgs a

FEATRR T Akt qu & A of-Troreiifare WAt & v #F et &1 qeetes R

Tregafar SN Aeaflier & @RI ARA-FF FaU Fi fAarafa & w1 FRoT aT:

[Question ID = 13957]

1. & T 37 ATHSRT 16T | [Option ID = 25826]

2. F garer Mgl faeimer & &k 9¥ | [Option ID = 25828]

3. amﬁw%aaﬁ%mﬁmmmgﬁm [Option ID = 25827]
4. 3 FeEr Gof: Ml FHATCA ST Fehd &| [Option ID = 25825]

Correct Answer :-
o & HeEr geT: AT HATST T Fehd A| [Option ID = 25825]

2) FAFAfaf@d daier w1 93 3K weat #1 3cav & |

gferar & F1$ off arr Sor 7l & Forwar we & Asrdehy Ut Aot FaHt F1 v FF FAT dF Aedg oA @ AwrfE
T 3 s o foram §1 oy, 919 saisi way d=Tie ATaor @ AaRE 8 9F &, 3uHT GAITT F 91 AR
3R T F g AEYH FA F FAY oo 6 337 wrgn R agara freg aReex o s Gt & wryr a7 araha Hr



FfFfAdar T s At

AT T & RAgea & 915 & e UF H 9 TF A TF Aqoragrar amen # afvesdt gfaan F e w1 wurer o=

& T sReT @ faaes i ar, g wseufa i Ieaf@er & s & ary aifdga o & ey et 1 ol 39

THUT $1 et & T F FATCT F AT I8 FOR 35AE 1990 F §AF & HfaH TAT A T § GHT A1 HY
3 o aferst & & arer sp-rreitfas gfdeEefadr ot gg & a1g off garea 1€t €6 §1 6 7E, 2000 # # gfoer
rmﬁrwamﬁ%nﬁﬁa:mmﬁmaﬁmmﬁsﬂrm 9T e evoaT ©

FEATER F alt gl & ore Sf-Trerehifare TeA Tl & w9 F Waell 71 et R

mwﬂr#mw\wmmam%?

[Question ID = 13956]

1. 9IRA - ¥ fATAT 7 JeTUar & gard A1icd [Option ID = 25824]
2. 7R - & G99 & gRadegar [Option ID = 25822]

3. ¥Rd - &H T & SAfeerar [Option ID = 25821]

4, AR - ¥ I&Y #H 3dR-deId [Option ID = 25823]

Correct Answer :-
o HRJ - &F Y H SAfeerdar [Option ID = 25821]

3) frfaf@a d@mer 1 9 3T 7eat FT3caw & |
gferar A w8 off 3 Sor 7dl & Forwar wa € sty Ut ANt FauT F1 v FF FAT dF Aedg oA @ AwfE
0 AR e F forar 71 fagg, 9 e waer die maor & @eRe 8 gF &, 36 FHIT F 918 HRd
3R FY Ig AEHH I H AT o 377 W13 R aqerat e aRees ar 3= et & |rer 3oy arareia
Ffaafaaar aw @eiT adi 8
ifead a F uea & 916 & g quUF F 59 7 7 U Aeradier mem H qfvas) gfaar & awrew F1 vy g
& T sReT & faee i an, g wseufa i Ieaf@er & s & ary aifdaa o & ey et # o 3
THUG FY A F T H FATCT F AT I§ FOR g 1990$a%m$3iﬁwmﬁwa;#a1aaﬂ7ﬁaﬂ
3 & aRReel St & Ay sf-vereifas wfaggefaar ot 3¢ & are off warea 7€t g8 81 6 7S, 2000 # »h gfaer
rmﬁrwvmﬁﬂmﬁﬁﬂnﬁmé’rmaﬁmmaﬁﬁhm o AR ST 0T
FEATRR T Akt quf & A of-Trorehifore WAt & v # et &1 qeetoa R
aﬁnvﬁa:mwaqzoooﬁﬁrqm#m#gwgm?

[Question ID = 13958]

1. ToTeiifaes #efierdr [Option ID = 25829]

2. §1-3r8R T A #mefer [Option ID = 25832]
3. JimaﬂTCrrﬁ? HgAR [Option ID = 25831]
4. ¥-Trateiifces WgAET [Option ID = 25830]

Correct Answer :-

o AT HATMERY [Option ID = 25829]

Topic:- DU_J19_BA_HSS_T12_Hin_Opt

1) Frafaf@d d@ier #1 93 3R weat F1 3cax & |

U Efarordy & wfer agelt Tear auT 3/ TET JUTY H IAR F& AT 8 TG FT L a1 77 ¢ e
FROT HE g A AR F iy STFEURT F1 &7 I8 ¢

THAETH A AT §T FET § B 50 U IR F wfy Toar 3k orfas e & w9 F dwr on i § o
Wféaﬁ#mﬁmﬁwmhﬁma?hmuﬁ%lw*m*aﬂw#qﬁaﬁaﬁwm
AATSF da1d ST 8, ﬁﬁrwmmm%ﬁ?ﬂmqﬁmmmﬂ%ﬁ;w#ﬂﬁh#mma&ﬁ forerd qdadt
meaﬁam%, SHHT YN I3 T&T 2

T FHATIR-F H T T @@ A 3 WRET SERATE! U 31 T F TR & gia et &d ge foaad § &,
“mwﬁmmﬁmﬁfaam@aﬁmmwmﬁm&ﬁﬁﬁém%m?w#mmw S
mmﬁmﬁmasmwﬁam%u"
WWMWWW%%WWNWWﬁmﬁﬁwﬁWWW%lm’{Wayﬂ:



ST HTNT & AW HeSAFIGY AelTell & Al A “JNT TF 7S ‘Fles sa1s qifaicad’ HT IH3 H ATdT ST 1T &, At gon
3 o731 X 3menRa §1 3 FEa § B 78 37 weerelier daif, ST B 3e8ia ¥ 37e ATy gur afexdls gar o, &
mmaﬁmmﬁmmﬁmﬁmwmmmwmmmﬁma
et a8t ot & w0 F R g8, Fg s AT A T8, mﬁ?mmmmﬁ;wgmm#
mwwmmmﬁnma*mwwmmmmmu

drgier & vy R aeq &

[Question ID = 13960]

1. gf&YuTaeyr ¥ea gras &1 [Option ID = 25840]

2. gfaroray & i ZAT gera & Acraelr [Option ID = 25838]
3. fagERTceRtoT [Option ID = 25837]

4. JUdT AT & 314 [Option ID = 25839]

Correct Answer :-

« fagERTceRtoT [Option ID = 25837]

2) frafaf@a darer & 98 3 yeat &1 3caxw & |

Ty EfErorTY & wfe qolt Tear auT 3@ AT TS H 3ARAT F6 A1 1 AATaed T HE o 747 ¢ o
FROT F§ 2t # AR & wfy STFwURT 1 77 951 21

THAEH A AT §T FET § B 50 U TR F vy Toar 3k vertfas e & w9 F @ o et § o
mwa%éaﬁ#mﬁmﬁw@ﬁhmﬁmﬁmra%lw#mﬂ:uﬁq#qﬁaﬁaﬂwﬁﬁa
AT d=I1d T &, ﬁﬁruﬁﬂmmm%ﬁ?ﬂmmmmﬂ%ﬁ;wm#mwa&ﬂ et gt
W@Waﬁem% 9T ST YT I3 T&T 2
wmw#mﬁw@w#émmﬁﬁhmm#ﬁ%uﬁmaﬁwmﬁ%%
“Waﬁaﬁmw@aﬁmmwmﬁmﬁﬁﬁﬁﬁmm*w#mmm s
qfﬁ?ﬁﬁtﬁ@tf#ﬂﬁ?ﬁﬁ*trﬁﬂﬁr#iﬂw%l
wmmmm%%wmﬂww@qaﬁrmﬁﬁﬁwaﬁmﬁmm%l:mma\zra;
39 AT & AEF HeSAFIE dTell & el H “"IAT TF 7% ‘FIes sois uifafeaq’ I I3 7 ATar o1 @7 8, AT gom
3R 179X 3meTRe B1 3 FEd § B 78 37 Weerelter e, St R 3t ¥ 3rven Ay dar afewels geAT O, &
mmaﬁmmmm#mﬁmmmmmmamamMﬁmg
et 78t ardt & v F o g8, Frg a8 aear & QT 8, STafF 3w gordt arer a1 B 97 T qEerAE &
ﬁwwwwmmna?ﬁ&ﬁtma?ﬁﬂﬁwwwmmmﬂmmﬁl

¢ it & STAEURT FY T AR el [ g @ § S FRoT ¥

[Question ID = 13961]

1. TSloAfae T@Tars [Option ID = 25842]

2. JUIT shiected & fd Tedr [Option ID = 25841]

3. A 3fHR & 9fd T&dr [Option ID = 25844]

4. T EfEToTY & 9fd 96t ToaT [Option ID = 25843]

Correct Answer :-

o U Fceled & 9fd T&am [Option ID = 25841]

3) fAafaf@a daier & 9¢ 3 weal #1 3w & |

U Efarordy & ufer agelt Tear auT 3/ TET JUTY H IAR F& AN 8 TG FT L a1 77 ¢ e
FROT HE g A AR F iy STFETURT F1 &7 I8 ¢

THAETH A AT §T FET § B 50 U IR F wfy Toar sk Torfas A & w9 # dwr on T § o
Wﬁ&ﬁ#mﬁmﬁwmhﬁmﬁa?hmm%lw*m*aﬂw#qﬁaﬁmm
AATSF da1d ST 8, ﬁﬁrwmmm%ﬁ?ﬂmqﬁmmmﬂ%ﬁ;w#ﬂﬁh#mma&ﬁ forerd qdadt
meaﬁanﬁa%,wmmqgm%l

T FHATIR-F H T T @@ A 3 WRET SERATE! U 31 T F TR & gia et &d ge foaad § &,
“mwﬁmmﬁmﬁfaam@aﬁmmwmﬁm&ﬁﬁﬁém%m?w#mmw S
qﬁaﬁmﬁmﬁmﬁm&w#am%l”
WWMWWW%%WWNWWﬁmﬁﬁwﬁWWW%lmimnga?



ST HTNT & AW HeSAFIGY AelTell & Al A “INT TF 7S ‘Fles sa1s qifaicad’ HT IH3 F ATaT ST 1T &, At gor
3 o731 X 3menRa §1 3 FEa § B 78 397 weerelier e, ST B 3eia ¥ 37e Ay gur afeddls gar an, &
mmaﬁmmﬁ%umﬁmﬁﬁmwmmmqrammmﬁma
et a8t ot & w0 F R g8, Fg s AT A TR, mﬁ;mmmmﬁ;wgﬁm#
mwwmmmﬁnma*mwwmmmmmu
ﬁmmgma%mm%agmgwwwﬁ%ﬁvwwﬁﬁwmmama?ﬁmwwmm
faa oy Feareefi?

[Question ID = 13962]

1. sFaTAT Wifaes 1HSH 91t [Option ID = 25847]

2. oGS 3Te8elahieX sSaTell [Option ID = 25846]

3. TrEaTer @Hg [Option ID = 25848]

4, P sol3 UlTalfead T faaReRT [Option ID = 25845]

Correct Answer :-

o Flos sols Ultaltedd $I TATRYURT [Option ID = 25845]

Topic:- DU_J19_BA_HSS_T13_Hin_Opt

1) f=faf@a dair & 9g sk meat F13eav & |

T & GIFR ) AFET I1 3T F Toadddl o N7 o) F1 NcwiRd FH DIRT T NI N aa & ™F
#Ra ¥ Raffee st & weiare, wd, 39, deam, Fibare AP SR 39F TER F @9 @ I §, W 3%
TR # T Y ARFA ¥ @ FIE TAFRY @l } AT 3 T A F| T § FARRT FR R AT g §; -
IS IehT HAFAR STFA-FAR F T2 &1 7 & Fell A1l 71 38 yovR o, oA wQer 3 e e &
3= &A1 F WaT I1ar §1 R Tafeav & Aty UsT # @ar v § 3R Jar F w7 st A ag e A€ 8
UHIT 81 O HatT FIEFHH & ded 37 @at A al Ay Reraed der e F fow FHw o vl fre smeat ik
=g AT & A9 F RS R SITEIm|

g0 3raral, foenf¥es, taa ¢, S, aRiaas, arer fafder, fifeagw ik e o S e #r af
WIcHIfed FT G| F6 W & Hea] Wol A aTer @, A Rt safFaat & e dicares #1 F67 #: a9d ¢
& A T AFT Il Frersnat F T e & whQ F1 THER F ¥l QS O FIA AR, S rfArwer
TTHEAT FT Aol g1 & GTT-T1Y 3 F T & off 3qae gfl 37 avg A Ao ga= F e 3 ff sT=a
gelt 8 3 e TRy aur sl & Y smefiart & S[erar ST wFar §1 3EHNT BRI AT A 3T Wl & WY-|IY
Far 13T, U Fegiaer (Rramigor), A AT (qdat X wrsfrer areeT) anf s wefe gt & e
#fY frder T et §1 g7 Wil Y 3T et 3 el gar a3 S o@ 3 e @Y 1@ §) omorer surERE
HHTIATE AR TCFR A 3T F & T arelt Rechr et & s o annfeaa gl 5w wast & AT A 0
Sirer 3 3cATE & WY Aeg He & foT Y 3ma g

FIHR Y Gell & AFRT ¥ et 39Tl 1 v arfee?

i. 0 AT TATE S0 SFE AT F Ay 3nF A oft 72

ii.&1eT Y STEetar TSN 4T fASh av Y smefierY ¥ e wfywl

foret F Wt Foe 1 T A

[Question ID = 13966]

1. 1At 318 [Option ID = 25863]
2. &hael i [Option ID = 25861]
3. hadl i [Option ID = 25862]
4, i 3l ii giAT [Option ID = 25864]

Correct Answer :-
e ohddl ii [Option ID = 25861]

2) fArAfaf@d a@ier w1 93 3K weat #1 3caw & |
AR A WIHR P! AR AT FIT F TedAFal oW 80T Fell F NcHIfgd FT IR0 Tg I”RT A ad & F
R & Raffest st 7 waRare, W, 391, Acare, Frbard SR S IEF TER & T T A 8, W IqF



TR 3 o Y ARE A @ B TR @Y & A1 3 e 7T A E | I § TN R W & AT @ E; -
ITSH g HIAFAR FTFA-FAR F a2 &1 # & Gell A1l §1 4 v 3, Roraer ggor 3R seR oRa &
3= &A1 7 W1 AT §1 AFI qafeaw F AUTT T 7 Gelr A1 § 30X U F 377 a1tk 7 A7 AT G A
I § 1 O WA FEFA & d6d 5T @l H At At Reraed dar weor F e 0w o v fre st sic
3= &Y & A9t Fr IR R sTTam)

$H& o, feTites, o ¢, F#, siaes, g fafteer, Rfeay sl F@ e Eraai s o
WIcHIfed FTT RN F6 W F IHead Wl A a1 @, A RAperier safFaat & e sicares #1 F67 7 a6d ¢
q 3T AT AFT AT TSt Y TR e & wFA &1 FER B A ASA? g% FA Afgw, S sftrwrer
SAHEIT FT AT 9 F FIT-TTY 31T F T F oft 3990 gf1 57 avg Y AT o= F v 3y ff ™=
gYelt € 3N I TRy T S & Y sy & S[eTT ST HahdT §1 3ENT T A T 1 Wal F qrY-Ary
T STShA, wm(m),mm(mwmm)mﬁmam%m
aﬁﬁ?&rwmélamﬁmaﬁmmﬁmﬁmwmﬁﬁ%lmmﬁ?
mmwﬁm#ﬁmmmgﬁmﬁ#mmmﬁmwm#mﬁﬁ
Ser 3R IcATE F WY A FI F AT 3TN 31T @Iy

@i A dr R T ¥

[Question ID = 13964]

1. TS g JHeRISET Well H Jefer [Option ID = 25854]
2. &1 el &l sgrar [Option ID = 25856]

3. 8131 TR & Well ol AT @1 [Option ID = 25853]
4, 3RS TR F Well T Ferar [Option ID = 25855]

Correct Answer :-

o 81T TR & Wall ol AT T@ar [Option ID = 25853]

3) fAwafaf@a daier & 9¢ 3 weal #13caw & |

A H TIFPR Y ARRIT IT FA & TeddAbal oW &7 el F AT FIT TIRT| Ig JTRT A ad & &
R & Raffest st 7 waRare, W, 39, Acare, Frbard R S IAF TER & T G A1 8, W 3AqF
TR # T Y AREA T @ FIE TSR @Vl & AT A 3T T A F| T F TR FR R & A g § -
3TSH grehY AT FFH-FeAR & aere &4 # & Folt et 1 59w A3, Raaraer weor s seaw e &
3= &A1 F Qe FA1ar §1 A Efea & Auray o # Gar Arar § AR & F 3wy s F 98 w78 8
I §1 O WAt FIEFA & d8d 57 @l H Al At Reraed dar w3 F e 0w o vl fre smeat sik
I & AN Y IR FFaT STwem)

$H& Jraal, foeTites, o ¢, 3, smiaes, gk fafteer, ffeazy sl @ e SR aai s ol
WIcHTed HIAT g F& B & Hee] Wl ST a1 W, aﬁﬁm—qﬁ?m’ra;mcﬂmmmwm%l
ammmmmmﬁwmnammmaﬁmmwmm ST 3rfereprer
mmmﬂmmﬁ*wmmﬁﬁw#ﬁﬂﬁaﬂwmﬁﬂwaﬁ%mﬁﬁm
gt & 3t 77 TRy aar fsht &t Ay smeflerd § STera ST FEHaT 1 3T T 3T AT $ Wl F qII-HI
T sT3faT, wm(m),mm(mwmw)m#mwa:m
aﬁﬁa‘errﬂmélﬁ@mﬁmvﬁmmﬁm@mwmﬁﬁ%lmm
mwmﬁmtammmmm@mmmﬁamwm#maﬂw
ST 3R 3eTE & WY Hag H & FAT A AT @

AR FT TS A Fer AT 2

[Question ID = 13965]

1. sI™MeIs [Option ID = 25858]
2. AU [Option ID = 25860]
3. f&fesa [Option ID = 25857]
4, FgTerd [Option ID = 25859]

Correct Answer :-
- f&fFwar [Option ID = 25857]



